
Sr PL No. Description Unit Stock Stock Value LI/LR-DT WD / DP
1 36257023 S&I OF FLEXIGNGWAY WITHFOOTPLATE Nos. 168 92027545 20-Dec-21 34/20
2 31760466 AUTOMATC SLIDNG DOOR S&I FOR A/C EMU Set 160 71888598 8-Apr-22 39/20
3 31540569 BODY SIDE DOUBLE SEAL WIN ARRGT Nos. 569 20834689 16-Mar-22 30/20
4 36420001 S&I ALU COMPOSITE PANEL SIDEWALL MRM/TC Set 24 20429148 24-Dec-21 30/20
5 36410159 S&I OF RUBBER FLOOR COVER Set 59 13534499 18-Dec-21 38/20
6 33681314 TROUGH BELOW AC UNIT CPL NPPE Nos. 312 10709670 18-Oct-22 31/20
7 33539881 ONE C/S OF CHAIR PILLAR ASSEMBLY Set 139 10182167 26-Sep-22 30/20
8 31620670 LUGGAGE RACKS 3 PHASE AIR CON Set 50 8342739 15-Jun-22 30/20
9 31440812 S&I OF ALU-VENTI-DUCT MEMU/TC Set 85 8086288 15-Dec-21 33/20
10 33540329 COVER COMPLETE SET FOR LSCN/EOG Pairs 2758 6813213 19-Jan-22 31/20
11 36357509 SS TUBE & FITT ICF/SK-10-2-618 Set 35 6632649 17-Nov-21 31/20
12 33681296 TROUGH BELOW AC UNIT COMPLETE Nos. 164 6278560 19-Aug-22 31/20
13 36640177 STRAP HANGER TO MRM/DTC. Set 5081 6200402 9-Nov-21 30/20
14 31540764 S&IOFWINDOWS IN 3PH MC/TCKOLKATA Set 30 6020897 16-Dec-21 30/20
15 33528603 S & I OF FRP PANEL IN LWSCZ Set 21 5629869 11-Jan-22 30/20
16 36357480 SS TUBE & FITT ICF/SK-10-2-617 Set 22 5050474 9-Dec-21 31/20
17 33626315 FRP DROP DOWN MOD TOILET/LWSCZAC Set 11 4948690 7-Mar-22 30/20
18 36357522 FITT ASSY WITH SEALING PLATE-1 Set 339 4605281 9-Dec-21 31/20
19 31352900 EP BRAKE EQUIP FOR AIR SUSP Set 8 4578678 27-Jul-22 31/20
20 31352935 SS TUBES & DOUB FER FITTINGS Set 14 4514391 13-Jul-22 31/20
21 90511025 MS SHEET CR 1X1250X2500MM IS:513 Kgs. 107983.93 4354414 6-Jun-22 32/20
22 31540776 S&IOF WINDOWS IN 3PH DTCKOLKATTA Set 19 4111103 23-Dec-21 30/20
23 30677592 S & I LIFT FOR PERSON REDUCEDMOB Set 8 4048000 22-Feb-22 31/20
24 36357492 SS TUBE & FITT ICF/SK-10-2-616 Set 17 4044428 9-Dec-21 31/20
25 30768780 LED LIGHT FITTING TYPED 9W FOR LW76092 Nos. 1664 4007250 3-Nov-21 35/20
26 36410147 S&I OF RUBBER FLOOR COVER Set 17 3811408 22-Dec-21 38/20
27 77035008 EXT. EPOX PU PAINT FOR KOL.METRO Set 46 3479130 13-Apr-22 38/20

LIST OF INACTIVE ITEMS FOR ICF:FUR

27 77035008 EXT. EPOX PU PAINT FOR KOL.METRO Set 46 3479130 13-Apr-22 38/20
28 31352947 SS TUBES & DOUB FER FITTINGS Set 12 3434443 27-Jul-22 31/20
29 33547427 ROOF CEILING ARRGT FOR LWSCZ Set 11 3267186 30-Nov-21 30/20
30 33580662 SET OF CLAMP FOR LHB GEN CAR Set 349 3128531 22-Jun-22 35/20
31 31437114 ONE PAIR O SS TUBU PARTI DOOR Pairs 110 2990447 21-Jul-22 30/20
32 36630020 S&I OF RMPU DRAIN ARRGT/KOL METR Set 105 2753100 16-Mar-22 30/20
33 33547520 S&I OF WINDOWS IN LWFCZAC Set 12 2592162 18-Nov-21 30/20
34 31547357 WIN INNER FRAME ICF/MRVC/C/SS-5- Nos. 1713 2526139 17-Feb-22 30/20
35 36640153 S&I ONE COACH SET HAND HOLDS-MRM/MC Set 22 2441352 23-Nov-21 30/20
36 31647480 AIR DUCT FOR TRACTION MOTOR Set 13 2141966 27-Apr-22 31/20
37 36560030 S&I OF ELEC CUBICLE DOOR MRM/MC & MRM/TC Set 26 2101986 25-Feb-22 30/20
38 31440526 FRP PANELS FOR SIDE WALL, END Set 3 2001714 15-Jun-22 30/20
39 31648113 S&I COACH SET HAND HOLDS-MRM-TC Set 16 1998977 1-Dec-21 30/20
40 30636863 WATER TANK ASSY ICF/SK 63139 COL Nos. 84 1983334 23-Jun-22 31/20
41 31440540 AC DUCT COMPLETE EMU/NDMC/AC Set 14 1926057 15-Jun-22 30/20
42 31630029 TWIN SET S.S WATER TANK ASSEMBLY Nos. 29 1889748 28-Dec-21 30/20
43 33502481 ONE C/S OF ATTACHMENT WALL MOUNT Set 52 1873234 21-Mar-22 30/20
44 31440514 SUPPLY OF AC DUCT COMPLETE EMU Set 8 1823150 15-Jun-22 30/20
45 33616462 SPACER FOR BERTH FIXING Nos. 36380 1685823 6-May-22 34/20
46 31620668 LUGGAGE RACKS 3 -PHASE AIR CON Set 14 1592296 11-Aug-22 30/20
47 36420013 S&I PANEL OF SIDE,END WALL MRM/DTC Set 2 1589819 16-Aug-22 30/20
48 40120340 TIE-SET OF NYLON CABLE TIE 400X7.87 MM Set 5891 1581524 12-Aug-22 39/20
49 31257320 S&I OF UICRUBBERVESTIBULE FOR SR Set 32 1524092 23-Feb-22 34/20
50 36640165 S&I ONE COACH SET HAND HOLDS-MRM Set 17 1519699 20-Dec-21 30/20
51 31630017 TWIN SET S.S WATER TANK ASSLY Nos. 29 1515651 5-Apr-22 30/20
52 31647479 D/W HAND HOLDS FOR AC AC EMU COL-I Set 15 1469430 23-Jun-22 30/20
53 33591880 CEILING SHEET ASSY AC 3-TIER LHB Set 7 1344446 10-Oct-22 31/20
54 31440680 S&I-CAT WALK ARRGT-RMPU-COL-I Set 29 1335848 20-Apr-22 31/20
55 33547853 SET OF CEILING SHEET ASSEMBLIES Set 6 1299974 1-Nov-21 30/20
56 36560042 S&I OF INT DOORS FOR MRM/DTC Set 10 1285617 15-Feb-22 30/20
57 45170113 UNF BATTERY LEAD ACID 90 AH CAPACITY Nos. 2 1269894 29-Apr-22 39/20
58 31102086 FABRICATED ITEM FOR MRM/MC BRAKE Set 41 1242143 17-Nov-21 31/20
59 73858109 UNF SS SLOT CSK FLAT HD TAP SC4.8X32 Nos. 907334 1184560 17-Mar-22 32/20



61 75320149 SOLID RUBBER PACKING 25X34X475 Nos. 11950 971434 17-Sep-22 38/20
62 31354490 UNION ELBOW 1 1/2 IN OD Nos. 400 946100 10-Mar-22 32/20
63 33830265 FLEET GRAPHIC FILM LWACCN Set 9 941125 25-Jul-22 38/20
64 33530087 HPL SHEET 1.2X1220X2440MM Nos. 1299 923852 6-Dec-21 34/20
65 33644287 SIDE WALL BLIND MOUNTING-LWSCZAC Set 19 913511 1-Feb-22 30/20
66 33530385 S&I OF FRP CEILING ASSY-LWFAC Set 4 899324 28-Oct-22 33/20
67 33769254 SWITCH PLATE ASLY LWSCZ 2 (814) Set 125 890491 16-Apr-22 35/20
68 77034995 ONE COACH SET OF PU PAINT ANUBUT Set 7 875385 4-Mar-22 38/20
69 31647900 SUPPLYOF HOOD CPL FORMR&BC COCK Nos. 236 871020 12-Mar-22 31/20
70 33598770 FLAT CONNECTOR WITH CONN LHB-EOG Set 174 859573 10-Feb-22 39/20
71 91011267 UNF ALU PLAIN SHEET 1.6X615X1750 Nos. 1045 855855 29-Dec-21 30/20
72 33512188 FABRICATED ITEM FOR LSCN Set 34 816515 2-Jun-22 31/20
73 31711418 CABLE TRAY FOR BHEL ACEMU TC2,TC4 -S&I Set 12 809680 29-Sep-22 39/20
74 33666283 EMERGENCY WINDOW Nos. 142 778160 22-Jul-22 31/20
75 31711182 DA SET 10 KVA FOR DETC US Nos. 2 755698 17-May-22 39/20
76 31648332 S&I AC AC EMU LONG HH COL IV Nos. 220 749922 9-Jun-22 33/20
77 31102098 FABRICATED ITEM MRM/DTC BRAKE Set 24 725368 9-Dec-21 31/20
78 30640994 ZEBRA STRIP TO DRG.6-4-043 MTR 3976 697020 6-Oct-22 31/20
79 31440691 S&I-CAT WALK ARRGT-HT-AREA E/DMC Set 29 682787 26-Apr-22 31/20
80 33619943 CLOSING PIECE LGS/EOG Set 1326 676260 29-Dec-21 30/20
81 31560325 ELECTRICAL CUBICLE DOOR EMU/AC Nos. 35 676087 1-Sep-22 30/20
82 31102104 FABRICATED ITEM FOR MRM/TC BRAKE Set 24 655005 9-Dec-21 31/20
83 33519882 S&I OF FRP PANELS FOR LFCZAC Set 3 649928 4-Mar-22 30/20
84 33719767 45 DEG END FITTING PG 16 Nos. 2621 647642 28-Sep-22 35/20
85 31540752 S&I OF OUTER GLASS AGGT FOR DESTN. BOARD Nos. 154 633853 11-Oct-22 30/20
86 33565041 UNF ROLLER SHUTTER DOOR MOUNTING Nos. 28 622021 23-Apr-22 31/20
87 33550530 UNF ALU EXTRUDED CHANNEL MOULD LHB Nos. 4363.6 621624 21-Dec-21 30/20
88 31440666 S & I OF SHUNT CAB R/PANEL W/CW Set 4 608847 1-Aug-22 30/20
89 33645620 LAYOUT OF NOTICE(NON BRAILE)-LSC Set 205 604750 14-Oct-22 30/2089 33645620 LAYOUT OF NOTICE(NON BRAILE)-LSC Set 205 604750 14-Oct-22 30/20
90 31353370 SS FITTING DEMU TC BOGIE Set 13 582802 30-Sep-22 31/20
91 33611099 MALE STUD ELBOW WE35LRA3C Nos. 1223 581346 23-Aug-22 38/20
92 33549904 SET OF FRP COVER FOR LWSCZAC Set 48 578640 4-Apr-22 30/20
93 84134150 CORK COMPOSITN SHEET5X900X900MM Nos. 665 549783 17-May-22 34/20
94 31710761 CLEATTING ARRGT FOR DMU/DPC Nos. 490 508674 5-Apr-22 39/20
95 30436321 STAINLESS STEEL MOULDINGS ITEM - Nos. 1674 508208 28-Mar-22 30/20
96 36640128 ONE COACH SET OF STICKER TYPE NO Set 26 491889 25-Feb-22 31/20
97 40124034 TIE- SET OF CABLE TIE LENGTH:295-305MM Set 2430 482752 11-Aug-22 39/20
98 33529930 SLIDING SCREW M10X30 Nos. 4797 476018 15-Mar-22 32/20
99 36640190 FIXING ARGT OF FIRE EXTINGUISHER Set 387 468379 7-Mar-22 31/20
100 33644937 SIDE WALL BLIND MOUNTING-LWFCZAC Set 10 458210 28-Dec-21 30/20
101 31760650 CABLE TRAY FOR BHEL ACEMU TC1,TC3-S&I Set 6 449481 29-Sep-22 39/20
102 33681089 SET OF THREADED PIPES Nos. 1471 426437 22-Dec-21 31/20
103 33611920 LAVATORY AIR EXHAUSTER HYB NON A Nos. 439 422711 18-Nov-21 30/20
104 31353629 A-9 AND SA-9 BRAKE VALVES Set 9 419844 13-Jul-22 31/20
105 31581043 SETOF SHIMFOR FIX SLIDDOOR ARRGT Set 123 419813 15-Mar-22 31/20
106 31050578 HOSE CONNECTION ASR 05009/1 Nos. 1526 419058 13-Feb-22 31/20
107 36357534 FITT ASSY WITH SEALING PLATE-2 Set 49 402493 9-Dec-21 31/20
108 33647628 LAYOUT OF NOTICES(BRAILE)LWSCZAC Set 36 391752 14-Mar-22 31/20
109 31760648 CABLE TRAY FOR BHEL ACEMU DMC - S&I Set 1 351161 23-May-22 39/20
110 33571065 SET OF JUNCTION BOXES Set 59 346882 13-May-22 35/20
111 33839967 FLEET GRAPHIC FILM LWSCZAC Set 3 345964 25-Jul-22 38/20
112 33623820 S.S PIPE CLAMP FOR LHB COACHES Nos. 38037 339462 10-Feb-22 32/20
113 33535425 DESTINATION BOARD MOUNTING Nos. 42 338910 14-Mar-22 31/20
114 45178185 BATTERY450AH 24V FOR STARTER IN DIES ENG Set 2 329795 11-Apr-22 35/20
115 33544165 ALU EXTRUSION FOR DUCTING ARRGT Kgs. 1679.86 327940 9-Apr-22 30/20
116 31353356 BRAKE CYLINDER FOR DEMU TC Nos. 33 318001 5-Oct-22 31/20
117 33547233 SET OF CIRCULATING AIR BOX Set 19 317571 2-Dec-21 30/20
118 31647984 D/W HAND HOLD AC AC EMU COL-III Set 6 314875 18-Jun-22 31/20
119 31354452 FEMALE TEE 1 INCH BSPT (F) Nos. 371 311657 7-Dec-21 32/20
120 30710108 BATTERY CHARGER BOS US Nos. 8 306653 30-Nov-21 35/20
121 31760843 SUPPLY OF LED DRIVER UNIT Nos. 279 301698 14-Jun-22 39/20



123 75909844 UNF LUMINOUS FILM FOR DISPLAY50X800M Nos. 2667 299051 28-Mar-22 34/20
124 36640130 ONE COACH SET OF STICKER TYPE NO Set 17 272196 25-Feb-22 31/20
125 33566604 RUBBER PACK 2X30X9440 Nos. 1639 262512 15-Mar-22 38/20
126 30710054 THROUGH BOX COMPLETE TO LWSCZAC-71003 Set 49 257871 30-Nov-21 35/20
127 31648071 1 C/S OF LAYOUT OF NOTICES-T-18 Set 33 257784 4-Jan-22 30/20
128 33535371 UNF RUBBER PACKING 3X20X8000MM LHB Nos. 1836 250202 15-Mar-22 38/20
129 33549655 S&I OF EXHAUST AIR PANTRY Set 18 243331 2-Dec-21 31/20
130 33540196 RUBBER PACKING (5X40X10500) Nos. 592 239928 14-Sep-22 38/20
131 30256446 FLAP DOOR FOR VESTIBULE Set 7 235051 10-Dec-21 31/20
132 33610204 PIPE 35X2.0MM LENGTH OF 6000MM MTR 306 234702 20-Sep-22 31/20
133 33541383 GLASS UNIT FOR FIXED WINDOW - LHB Nos. 56 221519 14-Mar-22 31/20
134 36716352 BATTERY CHARG SOCKET 250V, 63A Nos. 95 219716 28-Jun-22 39/20
135 36640141 S&I OF ZEBRA STRIP STICKERS MRB/DMC Nos. 321 212746 8-Apr-22 31/20
136 33560031 Glass unit for fixed window-LHB Nos. 144 207936 12-May-22 30/20
137 33547580 ALU EXTRUSION 3 MTRS RCF MTR 1549 202285 29-Dec-21 30/20
138 31353332 COUPLING HEAD FOR DEAD MOVEMENT Set 36 200691 28-Sep-22 31/20
139 31547370 FIXING RUBBER ICF/SR/DMU/DPC/E-5 Nos. 1122 191498 8-Mar-22 38/20
140 73578228 UNF S.S SLOTTED CSK HD TAP SCREW 4.2X13C Nos. 374398 189125 20-Jul-22 32/20
141 36700010 SCREENED MULTICORE COMMU CABLE MTR 782 188253 4-Apr-22 39/20
142 31902170 MCB - FLOOD LIGHT FOR DETC US Nos. 81 187908 12-Apr-22 31/20
143 31920706 SINGLE PAN PANTOGRAPH Nos. 1 183246 19-Apr-22 39/20
144 31357751 S.S AIR RESERVOIR 200 LTRS Nos. 4 180021 9-Dec-21 31/20
145 45189213 RUBBER PACKNG FR FAN ICF/SK 7-3-058/ IT1 Nos. 9432 178521 13-Jun-22 35/20
146 31354610 HEX NIPPLE 1-1/4 INCH BSPT(M) Nos. 409 177286 12-Mar-22 32/20
147 33642588 LAYOUTOF NOTICESWITH NONBRAILIE Set 93 174566 29-Jan-22 31/20
148 30436291 STAINLESS STEEL MOULDINGS ITEM-2 Nos. 965 170865 29-Dec-21 30/20
149 73036201 HEX HEAD BOLT M20X220-4.6 GALVD Kgs. 2641.77 167317 26-Jul-22 32/20
150 30546771 RING F CURTAIN DIA 30 SK54225/13 Nos. 83916 166319 7-Sep-22 31/20
151 33580339 BLOWER SINGLE INLET 415VAC Nos. 25 164129 10-Feb-22 39/20151 33580339 BLOWER SINGLE INLET 415VAC Nos. 25 164129 10-Feb-22 39/20
152 33596487 THREAD PLATE Nos. 3120 161986 14-Mar-22 31/20
153 31630200 CHUTE FOR SRI LANKA COACH Nos. 28 158973 9-Dec-21 31/20
154 31560222 INTER COMMUNI DOOR BET DRIVER Nos. 8 147268 18-Jul-22 30/20
155 31711212 SET OF MONORAIL & PIPE CLAMPS Set 15 144858 6-Apr-22 32/20
156 33769977 SET OF DIFFUSER FOR LJSCZ Set 12 143520 4-Apr-22 30/20
157 74499804 HINGEPIANO 40X1800MM IS3818 Nos. 2416 142517 11-Oct-22 32/20
158 30546783 HOOK DIA2X63 SK 54225/14 Nos. 79620 142282 8-Sep-22 31/20
159 31760405 TOGGLE SWITCH SET FOR DETC/US Set 38 135074 11-Apr-22 39/20
160 31630406 S.S FULL PIPE CLAMP - 6-3-064 Nos. 3867 122892 10-May-22 32/20
161 33647630 LAYOUTNOTICE(NON BRAILE)-LWSCZAC Set 28 120363 14-Mar-22 31/20
162 31901773 S&I TRACTION MOTOR DUCT FIX Set 6 120000 27-Apr-22 31/20
163 75328148 UNF RUBBER PACKING 3 X 30 X ROLL MTR 7410.5 119915 14-May-22 38/20
164 33510647 BRACKET SPEAKER FOR LWACCN Set 32 118366 11-Oct-22 31/20
165 33550608 MIDDLE BERTH FRAME Nos. 45 118148 25-Jul-22 31/20
166 31760338 LED LIGHT FITTING FOR DETC/US 9 WATTS Nos. 95 116827 29-Apr-22 39/20
167 73857830 UNF SS CROSS RE PAN HD TAP SC 3.5X16 Nos. 286088 114054 9-Jun-22 32/20
168 33517952 SET OF CEILING PANEL FOR LHB POW Set 6 110254 15-Apr-22 30/20
169 36640104 S&I OF ZEBRA STRIP STICKERS Set 46 109737 21-Jan-22 31/20
170 33545091 SET OF ALU MOULDINGS FOR LSLRD Set 38 107024 10-Mar-22 30/20
171 31440678 S&I-CAT WALK ARRGT-RMPU-COL-II Set 3 95239 20-Apr-22 31/20
172 33769217 SET OF SW PLATE ASSLY LSLRD Set 25 95000 28-Oct-22 39/20
173 30649894 FOLDING TABLE ARRGT ITEMS 14,18 Set 59 94587 5-Nov-21 30/20
174 33719007 90 DEG END FITTING PG 16 Nos. 347 89649 28-Sep-22 35/20
175 33719858 LED LIGHT FTG TYP-O,18W- LHBCC Nos. 13 87069 24-Dec-21 39/20
176 62131643 ELBOW M&F 40 MM IS 1239 PTII/69 Nos. 1436 87016 9-Apr-22 38/20
177 33555345 CLAMP DRG.LW 63111 ITEM-6. Nos. 5476 86822 8-Dec-21 31/20
178 33545870 NON AC AREA CEILING ARRGT LHB Set 1 85215 29-Jul-22 34/20
179 30670202 PIPE CLAMP T 63767 12 Nos. 13041 78682 29-Jan-22 31/20
180 62133974 S.S SOCKET 1 1/2 Nos. 481 77441 5-Nov-21 38/20
181 33566471 ONE SET OF COMPARTMENT SLIDING DOOR Nos. 14 75996 7-Dec-21 31/20
182 30670615 RIGID FIXING ARRGT COL-IV Nos. 1186 75283 10-May-22 31/20
183 84130192 RUBBER BASED ADHESIVE LTR 300 73809 20-Oct-22 34/20



185 33615317 S.S ADJUSTING WASHER 25X6MM LHB Nos. 7050 68249 17-Jan-22 32/20
186 33590722 CROSS 32 BORE IS:1239 Nos. 194 67964 11-Aug-22 38/20
187 33647604 DUMMY FTG TYP-P, LHB ACCC Nos. 57 67032 10-Feb-22 39/20
188 30561620 CATCHFORLAVDOOR ASSY CR T56081P Nos. 139 66905 7-Jan-22 31/20
189 77033255 SY.ENAML WHITE FIN BRUSHG IS2932 LTR 348 62233 21-Sep-22 38/20
190 31648046 1C/S OF LAYOUT OF NOTICES T-18 Set 11 62099 12-May-22 30/20
191 83049460 SPL PAPER 260X370MM 70/80 GSM Ream 199 58456 21-Apr-22 38/20
192 31726458 PRESSURE TRANSDUCER Nos. 6 56142 11-Jul-22 39/20
193 33769941 TERMINAL STRIP FOR LHB EOG AC Set 15 54798 1-Dec-21 31/20
194 81035111 SODA CAUSTIC PUREGRADE IN FLAKE Kgs. 1928 51249 30-May-22 38/20
195 73818367 HEXAGON HEAD BOLT -IS:1364 (PART 1) Kgs. 463.71 49831 10-Mar-22 32/20
196 73522685 CHEESE HEAD SCREWS AM5 X50 GALVD Kgs. 589.102 48866 12-Mar-22 32/20
197 33642576 LAYOUT OF NOTICES(BRAILE)LWSCZ Set 4 47978 23-Nov-21 31/20
198 73807503 HEX NUT M12 Nos. 6649 46974 10-Aug-22 32/20
199 30642784 ALU PLATES FURNISHING T 64009 Nos. 893 46459 15-Jun-22 31/20
200 80032904 GREASE GRAPHITE/GENERAL IS508/73 Kgs. 546 45035 15-Sep-22 38/20
201 40124058 TIE-SET OF NYLON CABLE TIE 200X4.88 MM Set 365 44607 5-Apr-22 39/20
202 73853628 SS CSK HED SCREW SIZE: M10X80 Nos. 2690 40902 12-Mar-22 32/20
203 30921119 ALARM PULL ASSY. COL.II Nos. 280 39813 22-Mar-22 31/20
204 33593000 UNF BRACKET FOR CEILING PROFILE LHB Nos. 794 39597 25-Apr-22 31/20
205 30540756 LOCK ASSY FOR WINDOWS WTAC 54009 Nos. 853 39493 20-Jan-22 31/20
206 70137109 DISC CENTRE DEPRESED 180X7X22.23 Nos. 546 37384 6-Sep-22 38/20
207 33542338 SNAP HOOK Nos. 1750 36750 17-Mar-22 32/20
208 31648137 RETRACTABLE RIBBON ASSEMBLY Nos. 12 34799 6-Oct-22 31/20
209 31353680 4 INCH SINGLE PRESSURE GAUGE(FP) Nos. 16 33356 12-Apr-22 31/20
210 72202841 DRILL TWIST HSS PS 5.20 MM IS 51 Nos. 924 33204 24-Nov-21 38/20
211 31353691 4 INCH SINGLE PRESSURE GAUGE(BP) Nos. 14 32247 12-Apr-22 31/20
212 31630431 S.S TWIN CLAMP Nos. 339 31602 18-Jan-22 32/20
213 30417430 S-BEND FOR WASH BASIN SSA-41005 Nos. 15 30762 29-Dec-21 30/20213 30417430 S-BEND FOR WASH BASIN SSA-41005 Nos. 15 30762 29-Dec-21 30/20
214 62174241 WHEELVALVEGM 1IN FEMENDS Nos. 44 30184 8-Dec-21 38/20
215 73522806 SCREW CHEESE HD AM6X40 G 1366/68 Kgs. 236.069 28181 25-Jul-22 32/20
216 62132933 BACK NUT HEX 15MM G IS1239/PTII Nos. 4188 27725 6-Oct-22 38/20
217 30614855 LONGITUDINAL BERTH SUSPENSION Nos. 324 27106 6-Jul-22 31/20
218 73578265 UNF STAINLESS STEEL SLOTTED CSK Nos. 47527 26140 5-Mar-22 32/20
219 73991387 WASHER ISO 7089-14-300 HV Nos. 3611 25523 8-Jan-22 32/20
220 73112008 HEX NUT MS DC M8-6 Kgs. 285.444 23394 19-Nov-21 32/20
221 31760510 MCB DISTBN BRD, METAL CLAD 20A, MCB 16A Nos. 45 23085 10-Feb-22 39/20
222 30920863 SQUARE NUT M6 TO IS:2585-68 Nos. 11173 21834 11-May-22 32/20
223 72017880 BAND SAW BLADE BI-METAL 4850X27XT0.9X10/ Nos. 13 21622 29-Jul-22 38/20
224 33765686 SET OF R/F CLAMPS LP76001-LSCZAC Set 21 20754 18-Feb-22 38/20
225 30920851 SQUARE BOLT M6X40 IS:2585-68 Nos. 3361 20044 11-May-22 32/20
226 33568273 ALU ANGLE MOULD 3.15 X25.4X25.4 Kgs. 86.729 18720 21-Dec-21 30/20
227 45026713 SEARCH LIGHT FITTING Nos. 39 18261 30-Aug-22 35/20
228 75036757 HOSE WELDING FOR ACTYLENE RED 8M MTR 245 17924 17-Jun-22 32/20
229 30614480 PACKING PCE FOR UPPER BERTH MG/T Nos. 213 16975 12-May-22 31/20
230 73854165 HEX.HD.SCREW M16X80- 8.8 Nos. 1001 15556 10-Mar-22 32/20
231 31902546 FUEL LEVEL GUAGE SR/DMU/DPC2 Set 2 15197 17-Nov-21 31/20
232 31544198 SEALING RUBBER SPONG 5X15X3000 Nos. 211 15087 22-Aug-22 38/20
233 73824719 UNF ALU PLAIN WASHER SIZE A3.5 Nos. 8346 14358 27-Jul-22 32/20
234 70017062 WHEELSGRINDING150X6X25 Nos. 68 13602 16-Mar-22 38/20
235 75328380 UNF RUBBER PACKING 9X10X1918 MM Nos. 197 12746 10-Nov-21 38/20
236 45145052 U MCB DISTBN BRD,METAL CLAD 20A, MCB 10A Nos. 16 12517 10-Feb-22 39/20
237 73573437 UNF RAISED CSK HEAD SCREW SIZE M5 Nos. 3521 12086 22-Jul-22 32/20
238 73836710 FLAT CSK HD RIVET SIZE 5 X 20 Kgs. 47.428 11695 27-Oct-22 32/20
239 31902182 TERMINAL BOARD BOX DETC/US Nos. 17 11643 11-Apr-22 39/20
240 30649535 COACH NAME PLATE(AL)-DMU/TC Nos. 419 11389 15-Jun-22 31/20
241 33649911 ARRGT. OF TABLE MOUNTING-LWSCZAC Set 1 11259 14-Mar-22 31/20
242 72203328 DRILLS TWIST HSS PARALLELSHANK S Nos. 70 11142 24-Mar-22 38/20
243 73160260 UNF ALU SNAP HEAD RIVET 3X15MM Nos. 67580 11052 14-Dec-21 32/20
244 74033189 UNF WIRE CLOTH NOMINAL DIA 0.28MM SQM 9 10800 28-Mar-22 32/20
245 30920700 PVC FEXIBLE HOSE IS Nos. 280 10799 10-Dec-21 31/20



247 74503807 HINGE MS DA 100MM IS 453/63 F1 S Nos. 50 10112 9-Nov-21 32/20
248 72202520 DRILL TWIST HSS PS 2.50 MM IS 51 Nos. 646 9997 22-Jan-22 38/20
249 73112203 HEXAGON NUT SIZE M20-6 Kgs. 117.379 8930 10-Mar-22 32/20
250 73900205 UNF STAINLESS STEEL BUTT HINGE 100MM Nos. 118 8207 9-Jun-22 32/20
251 73836539 RIVET LA CSK HD 3X20 MM IS 29 Kgs. 30.551 7269 27-Sep-22 32/20
252 75036502 HOSE WELDING FOR OXYGEN BLACK 8M MTR 95 6950 17-Jun-22 32/20
253 73573401 UNF SS SLOTTED PAN HD TAP SCREW 4.8X13C Nos. 6835 6946 8-Jun-22 32/20
254 73572366 U SLOTTED CSK HEAD TAP SCREW ST4.2 X19F Nos. 27691 5962 2-Jun-22 32/20
255 62132076 REDUCING ELBOW 25X20MM IS1239 PI Nos. 291 5714 1-Feb-22 38/20
256 30438093 SS ANGLE MOULDINGS 1X15X25X2000 Nos. 14 5617 12-Mar-22 30/20
257 73530657 M6 X 20 CSK Flat Hd Screw -IS:1365-2005 Kgs. 35 5129 10-Jun-22 32/20
258 73100250 U SS HEX NUT M4 TO IS:1367 (PT14) A2-70 Nos. 12664 4994 6-Apr-22 32/20
259 31357076 NYLON WASHER ICF/SK 35263/2 Nos. 6552 4547 11-Mar-22 31/20
260 73548133 SLOTTED RAISED CSK Kgs. 22.01 4390 27-Sep-22 32/20
261 31711662 JN BOC COMP WTCZ 71 004 Set 7 4281 2-Apr-22 35/20
262 73720112 UNF SPRING WASHER M6 IS:3063-94, TA Nos. 6080 3864 28-Jun-22 32/20
263 73520068 SCREW CHEESE HD AM3X12 Kgs. 20.3 3857 6-Oct-22 32/20
264 62174563 UNF HORIZONTAL CHECK VALVE 25MM BORE Nos. 6 3336 8-Dec-21 38/20
265 42990191 CRIMP SOCKET TO EDTS-201 /ITEM10 Nos. 1244 2981 11-Jan-22 39/20
266 73321059 SPLIT PIN SIZE 2.5 X 20 Nos. 3040 2847 11-Dec-21 32/20
267 42900074 CR SOCKET 6 SQMM ITEM 6 Nos. 463 2780 30-May-22 39/20
268 73033595 HEX HD BOLT M8X40 GIS1363/67 Kgs. 25.01 2476 6-Apr-22 32/20
269 31353812 ISOLATING COCK W/O VENT - 1/2 INCH Set 2 2236 12-Nov-21 32/20
270 31760417 CABLE DUCT WITH COVER 2M (L) Nos. 13 2126 5-Apr-22 39/20
271 31711704 JN BOC COMP WCBTZ 71 002 Set 2 1784 20-Jan-22 35/20
272 42407916 CR SOCKET 35 SQMM ITEM 12 Nos. 29 1398 8-Dec-21 39/20
273 30670548 HOLDER PIPE 3/4 IN BSP T63 767/1 Nos. 153 618 5-Mar-22 31/20
274 73522533 SCREW CHEESE HD AM5X10 G IS 1366 Kgs. 5.269 581 7-Feb-22 32/20
275 73710477 SPRING LOCK WASHER B-18 Kgs. 3.841 576 7-Feb-22 32/20275 73710477 SPRING LOCK WASHER B-18 Kgs. 3.841 576 7-Feb-22 32/20
276 73512072 UNF HEX HD SCREW M16X40 -8.8 ZINC Kgs. 4 538 31-May-22 32/20
277 72202877 DRILL TWIST HSS PS 5.50 MM IS 51 Nos. 8 317 11-Feb-22 38/20
278 33556910 CAGE CLAMP TERM STRIP FIX FLANG Nos. 3 252 17-Dec-21 35/20
279 73321552 PINS SPLT COTTER MS 3.2X40MM G I Nos. 861 236 15-Jul-22 32/20
280 30636024 GRAVITY COCK WITH ANTIPILFERAG A Nos. 36 74 14-Dec-21 31/20
281 73100286 HEX NUT- M16 -5 IS:1363 PT-3 Kgs. 0.015 1 10-Nov-21 32/20

456369748


